
© Panduit Corp. 2015 INSTALLATION INSTRUCTIONS

For Technical Support: www.panduit.com/resources/install_maintain.asp

V00029HI

Page 1 of 10

Cabinet Supported End of Row Cap 
Part Number(s) : C2CEORO*CP*B1

C2CEOR03CP*B1 
(1) 900mm Floor Seal Panel

(1) 900mm Bottom Panel Guide
(1) 900mm Vertical Wall Blanking Panel

(2) End of Row Polycarbonate Panel 900 Wide 
(2) Vertical Panel Clamp, Wide

(2) Vertical Panel Clamp
(4) Horizontal Panel Clamp 

(2) Corner Bracket, Right-Hand 
(2) Corner Bracket, Left-Hand 

(1) Column, Right-Hand
(1) Column, Left-Hand

(1) 900mm Roofing Blanking Panel
(1) 900mm Upper Panel

(1) Vertical Panel Support
(1) 900mm End Beam

(1) Hardware Kit

C2CEOR04CP*B1 
(1) 1200mm Floor Seal Panel

(1) 1200mm Bottom Panel Guide
(1) 1200mm Vertical Wall Blanking Panel

(2) End of Row Polycarbonate Panel 1200 Wide 
(2) Vertical Panel Clamp, Wide

(2) Vertical Panel Clamp
(4) Horizontal Panel Clamp 

(2) Corner Bracket, Right-Hand 
(2) Corner Bracket, Left-Hand 

(1) Column, Right-Hand
(1) Column, Left-Hand

(1) 1200mm Roofing Blanking Panel
(1) 1200mm Upper Panel
(1) Vertical Panel Support
(1) 1200mm End Beam

(1) Hardware Kit

C2CEOR06CP*B1 
(1) 1800mm Floor Seal Panel

(1) 1800mm Bottom Panel Guide
(3) End of Row Polycarbonate Panel 1200 Wide 

(2) Vertical Panel Clamp, Wide
(4) Vertical Panel Clamp

(6) Horizontal Panel Clamp 
(2) Corner Bracket, Right-Hand 
(2) Corner Bracket, Left-Hand 

(1) Column, Right-Hand
(1) Column, Left-Hand

(1) 1800mm Upper Panel
(2) Vertical Panel Support
(1) 1800mm End Beam

(1) Hardware Kit



© Panduit Corp. 2015 INSTALLATION INSTRUCTIONS

For Technical Support: www.panduit.com/resources/install_maintain.asp

V00029HI

Page 2 of 10

Installing Left and Right Hand Corner Brackets to S-Type Cabinets
Tap the knock-outs out from the top and bottom of 

cabinets where the End of Row Cap will be installed. 
Make sure the knock-out tab is removed 

fully from the opening. 

Install Cage Nuts in the knock-out 
openings and turn 1/4 turn to secure. 

M6 x 10mm 
Hex Head Bonding Screw 

4 places per side

Knock-out
1/4 

Turn

1 2

3



© Panduit Corp. 2015 INSTALLATION INSTRUCTIONS

For Technical Support: www.panduit.com/resources/install_maintain.asp

V00029HI

Page 3 of 10

Installing Left and Right Hand Corner Brackets to N-Type Cabinets

M6 x 10mm 
Hex Head 

Bonding Screw 
4 places per side

M5 x 10mm 
Hex Head Bonding Screw 

4 places per side



© Panduit Corp. 2015 INSTALLATION INSTRUCTIONS

For Technical Support: www.panduit.com/resources/install_maintain.asp

V00029HI

Page 4 of 10

Installing Left and Right Hand Columns to Cabinets

M6 Serrated Flange 
Hex Nut 

2 places per side

1

2

M6 Serrated Flange 
Hex Nut 

2 places per side

Install 1” x 1” Foam Seal to 
both Columns

1” x 1 ” Foam

Note the height and 
side stamping. This 
stamping is always 

located at the top and 
contains a ‘R’ or ‘L’ 

to determine the side 
of containment, as 

viewed from the inside  
of the containment 
that it will attach to. 
‘R’ for the right side 

and ‘L’ for the left side.



© Panduit Corp. 2015 INSTALLATION INSTRUCTIONS

For Technical Support: www.panduit.com/resources/install_maintain.asp

V00029HI

Page 5 of 10

Installing Floor Seal to Columns

Install 1” x 1” Foam Seal 
to Floor Seal Panel

1” x 1” Foam

Attach Floor Seal Panel to 
Bottom Panel Guide M5 x 0.8 Serrated 

Flange Hex Nut 
2 places 
DO NOT 

TIGHTEN YET

M6 Serrated Flange 
Hex Nut 
2 places

After attaching the Floor 
Seal. Push the Foam Seal 
tight against the floor and 
tighten the 2 M5 x 0.8 Hex 
Nuts left loose in Step 2.

1

2

3



© Panduit Corp. 2015 INSTALLATION INSTRUCTIONS

For Technical Support: www.panduit.com/resources/install_maintain.asp

V00029HI

Page 6 of 10

Installing End Beam to Roofing Blanking Panel for Roofing Application

Installing Upper Panel

M6 Serrated Flange 
Hex Nut 
2 places

M5 Serrated Flange 
Hex Nut 
3 places



© Panduit Corp. 2015 INSTALLATION INSTRUCTIONS

For Technical Support: www.panduit.com/resources/install_maintain.asp

V00029HI

Page 7 of 10

Installing Roofing Blanking Panel to Upper Panel for Roofing Application

M6 Serrated Flange 
Hex Nut 
4 places

1

2

Foam Seals 
Trimmed to fit wall Panel 

2 places



© Panduit Corp. 2015 INSTALLATION INSTRUCTIONS

For Technical Support: www.panduit.com/resources/install_maintain.asp

V00029HI

Page 8 of 10

This Application is completed 
with LCAC Roofing Assemblies 

purchased separately. 
(C2CAC0**FO**R**)

 C2CAC0**FO**R**

M6 Serrated Flange 
Hex Nut 
2 places

M6 x 12mm 
Serrated Flange 
Hex Head Screw 

2 places

3

4



© Panduit Corp. 2015 INSTALLATION INSTRUCTIONS

For Technical Support: www.panduit.com/resources/install_maintain.asp

V00029HI

Page 9 of 10

Installing Vertical Wall Blanking Panel to Upper Panel for Vertical Wall Application
1

2

M6 Serrated 
Flange Hex Nut 

4 places

This Application is completed with 
HAC Vertical Wall Assemblies 

purchased separately. 

HAC Vertical Wall 
Assemblies

Install 3 sections of 1” x 1” Foam Seal 
to Vertical Wall Blanking Panel

1” x 1” Foam

3



© Panduit Corp. 2015 INSTALLATION INSTRUCTIONS V00029HI

Page 10 of 10

For Instructions in Local Languages 
and Technical Support:

www.panduit.com/resources/install_maintain.asp

E-mail:
techsupport@panduit.com 

Phone:
866-405-6654www.panduit.com 

Installing the Vertical Panel Support, Panels , and Panel Clamps

M5 x 0.8 
Serrated

Flange Hex Nut 
4 places 

1

2 M5 x 0.8 
Serrated

Flange Hex Nut 
2 places each 

Horizontal Clamp 

M5 x 0.8 
Serrated

Flange Hex Nut 
5 places each 
Vertical Clamp 


